



Nom: _____

Date: _____ Note: _____

$$\left(-\frac{1}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \frac{1}{4} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^{(-1)} + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \frac{3}{4} =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) =$$



Nom: _____

Date: _____ Note: _____

$$\left(-\frac{1}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{97}{4} = 24\frac{1}{4}$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{1}{2} = \left(-\frac{7}{2}\right) = \left(-3\frac{1}{2}\right)$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \frac{1}{4} = \left(-\frac{13}{12}\right) = \left(-1\frac{1}{12}\right)$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{4} = \frac{11}{100}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{3}{10}\right)$$

$$\left(\frac{3}{5}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \frac{29}{12} = 2\frac{5}{12}$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{5}\right) = \frac{17}{15} = 1\frac{2}{15}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{3}{5} = \left(-\frac{13}{5}\right) = \left(-2\frac{3}{5}\right)$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{4}\right) = \frac{17}{4} = 4\frac{1}{4}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{25}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{4}\right) = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{2}{5} = \frac{78}{5} = 15\frac{3}{5}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{47}{5} = 9\frac{2}{5}$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{5} = \left(-\frac{6}{25}\right)$$

$$\left(-\frac{1}{3}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{3}{5}\right)^{(-1)} + \left(-\frac{2}{5}\right) = \frac{19}{15} = 1\frac{4}{15}$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \frac{3}{4} = \left(-\frac{13}{4}\right) = \left(-3\frac{1}{4}\right)$$

$$\left(\frac{1}{5}\right)^{(-2)} - \frac{3}{4} = \frac{97}{4} = 24\frac{1}{4}$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{3} = \frac{37}{75}$$

$$\left(-\frac{2}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) = \frac{73}{12} = 6\frac{1}{12}$$